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In computer: In user's mind:
e lightl_broken: light #1

light1_broken +— sw_up

M power M unlit_light1. o
@ sw_up: switch is up i[1 /{ 1 /{
WP o e power: there is power in - b ’\IPOW Vo vh - j
power +— lit_light2. the building
unlit_light1. @ unlit_light1: light #1 . R /
lit_light2. isn't lit WOW’ M{—_ [2}
o lit_light2: light 2 is lit "'(«"1- ng { (1 b ,\_lpovu}
— Ly - -7
Conclusion: lightl_broken
@ [he computer doesn’t know the meaning of the symbols \
@ The user can interpret the symbol using their meaning { F W g
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